1 ROz R L 723 v,

(1) (2z+1)3 (2) (3z —2y)®
= (22)® + 3x (2z)® x 1 + 3 x(2z)x1® 4 13 = (382)® — 3 x (3z)> x(2y) + 3 x(3z)x(2y)* — (2v)®
= 8% 4+ 1222 + 6z + 1 = 27z — 542’y + 36zy® — 8y°

(3) (4z +y) (162 — day + ¢?) (4) (6z —2)(362% + 12z + 4)

= (6z)® — 2°
= 64z + 3 = 2162° — 8
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(1) 272 — 8y3 (2) a®v® +¢c?
= (32’ - ()’

= {32)—-(20)}{ (32)° +(32) x (20)+ (20"}
= (3z — 2y) (922 + 6y + 4y?)

= (ab)® + &
_ {(ab)+c}{(ab)2 —(ab)><c+c2}
= (ab+ c)(a®b® — abc + c?)

(3) 23 + 622y + 12zy> + 8y° (4) 54z* — 128zy®

= 2z(272° — 64y°
=[] + 3xa?x(2y) + 3x2x(2)° +[ )’ ( )

= (z+ 2y)3 - 2${(3w)3 B (4y)3}
= 20{(32)— (4y)}{ (32)? +(32) x (49) + (41)° |

= 2z(3z — 4y) (92% + 12zy + 16y7)



(1) (2)
8x3 + 12z + 6z + 1 2723 — 54z%y + 36xy? — 8y3
(3) (4)
64z + y? 2162% — 8
(1) (2)
(3z — 2y) (922 + 6zy + 4y?) (ab+ c)(a®b? — abc + ¢?)
(3) (4)

(z + 2y)*

2z(3z — 4y) (922 + 122y + 16y?)
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